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Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her
age. / Tt safaa &1 gfs afsy &1 3= A STt g ¥ faunfora g9 afea
P 3P AU A o= e 2

1. Real Intentional, Stereotyping / IRdfd® 1¢, TR

2. Chronological, Neurological/ d’lﬂl'j,q?IrJ\-IOh, Afd®
3. Chronological, Mental/ WW, EIEIRC
4. Mental, Chronological/ qHR®, Ww

Correct Answer :-

» Mental, Chronological/ J-II"IR-IOI?, Oblc1l'j,9bﬁ-ld>

2) Which genetic problem is associated with heart defects? / TG4 PR & Iy H19 W@
SATTIRIS THT &2

1. Turner’s syndrome / TR ﬁl@ﬂ

2. Down’s syndrome / ST3 ﬁl@j’q

3. Autism / 3iT¢oH

4. ADHD/QS"Qag

Correct Answer :-

« Down’s syndrome / SI13 ﬁl@j’q

3) Which of the following age ranges is considered early childhood? / frafafaa d 9 fea g Idtr
P URTHS SEU= AT ST1aT 82



1.7t011/79 11
2. Birth to 2/ SFI 9 2
3.3t012/39 12

421 6/2 9 6

Correct Answer :-

« 21t 6/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / qau= o

T8 ST ¥R ofd B U 7S SISl & S[d & Ble BT 46 BT U Iae0l &
1. Long-term memory / &Y-Td Rfd

2. Episodic memory / AT WA

3. Inmediate memory / TehTdl Wid

4. Sensory memory / deT ¥fd

Correct Answer :-

o Immediate memory/?‘l(_m'—lﬁﬂﬁf

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of

nested environmental systems that are also called ./ uiifRufae gomeht ﬁl?il_d,
ot g& ¥U A I FithaR gRT AGR {591 7471 8, IR UhR & Aes qaiarr yunferal &)
fAfée wvar @ g WY we1 SITar 81

1. Influential conceptualization/ UGS AR

2. Human development/ A4 fas®Tg
3. Human ecology/ Aa uIRfYfa®!
4. Intellectual development/ SfGP faH™

Correct Answer :-

» Human ecology/ HIHd I INEIRE|

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or
cultural goals is called . / 7T A&hl B 3R Sl T 3 SThTHS a8l di Y: R &, ot
TR FATHD, T T ARPIIP AT I o, Fgarargl

1. “Sublimation / RANEEU



2. Compensation / IREN|

3. Affiliation / G

4. Rationalization / g%lw

Correct Answer :-

« Sublimation / SGITHOT

7) Which of the following agencies is responsible for preparing curriculum framework for
school education in India? / fRff@a & ¥ 19 W woidl, uRa A wpelt Rien & g wreuswa TuvEr
IR T F g Iererd 32

1. NCERT
2. NEUPA
3. NCTE
4. RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / AT BT

from, afrmAqd | F ravued R U Sradr el
1. Experience / 3{JHd

2. Reinforcement / Q:ITST?F[

3. Practice / {WIH
4. Maturation / IRCE]

Correct Answer :-

« Maturation / IRCE]

9) What is the ‘magic number’ according to Miller’s theory on chunking? / T IR fireR & Rrgia &
TR AP Fav |82

1.2 (+/-3)

2.9 (+/-1)



3.5 (+-2)
4.7 (+/-2)
Correct Answer :-
. 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / <] TeRH &

IR, MER F {5 YR & g FiSar &1 IuanT far orar g2
1. Naturalistic intelligence /m Ej@

2. Intrapersonal intelligence / fRTIafads® ng@

3. Linguistic intelligence / ‘H'I'W'Iﬁ@@

4. Bodily-kinesthetic intelligence / IRIR®G-TTfa=dd! CI

Correct Answer :-

« Bodily-kinesthetic intelligence / TR -TTfadac S

11) What do individuals scoring highly on neuroticism experience? / HTﬂTﬂTT (ﬂ?ﬁﬁ%ﬁl’) SqHd ﬁ,
i Pt AT T AU g1 82

1. Uncontrollable happiness/ S{f-difAd vrg=rar

2. Mixed emotions/ THf&d HIG

3. High stress and anxiety/ 3= d-I1d 3R geRTgT

4. Positivity/ YBPRIHD

Correct Answer :-

« High stress and anxiety/ 3@ T1d 3R GeRIgT

12) As a teacher, what is the best way to help students in a problematic situation? / Tch e FEY

H, T AT ¥ STl 3t dag H- BT A ST aRidT |1 82
1. By reward / 3T &R

2. By punishment /¢S SR

3. By providing solution / THTYT UG ®Rb

4. By giving similar type of problem to solve / 8@ &< & AT 34! UHR B! THT GHL

Correct Answer :-



« By giving similar type of problem to solve / 80 ®RA & AT 3T UHR P! AW TR

13) Children start experiencing peer group influence by around the age of: / g dPpta ERIRSIE I

TEH U TUE YU BT SJHT HIT I PR od &
1. Five years / U a8

2. Four years / IR 8

3. Three years / A9 a8

4. Six years / 9: G

Correct Answer :-

o Six years/ ®: G

14) Which of the following is not a characteristic of working memory? / ﬁfﬁm ﬁ' ﬁ' a'ﬁq ?ﬁ CGE)
e @fdr A o foarwar =781 82

1. Tt involves rehearsal / 9% Rgdd wfad g

2. It is permanent / H’s’@ﬂﬁ[%l

3. It is active /q_s'ﬂﬁ?q%l

4. It involves manipulation / gﬂﬁ Gﬁ%’-?ﬁ%’ NIIE %I

Correct Answer :-

« Itis permanent/ T8 QIR gl

15) Which of the following best describes ‘learning’? /Frafafaa & Q S1-91 SRR o1 999
33T qUiA BT 82

1. The process of acquiring knowledge and skills through listening to the teacher. / fRrere o1 {Flef & HIEH g
= o
I IR DI YT B Bt Ul

2. The process of gaining facts and information through rote memorization. / H& TR & AT Q ) R
SIFeRI U R 1 UichaT |

3. The process of gathering information by reading and writing. / tIE%T 3R fora & o SHaHRY EEA A
1 ufeha|

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 faaRY, 3IHa, 3reqg, 2o SR TR0 & H1eH F I, I 3R e urd
B B Ufhar

Correct Answer :-



» The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 TaARY, sy, 3rea, Sfoal 3R ATSNHRU & ATEH I IH, HINA 3R FHuer urd
DR B Ufehar

16) Which of the following stages of psychosocial development do not occur in childhood? /uﬁ%mﬁa?

e & Fufafed avon & & #1991 o 9901 & T8 gar 82
1. Autonomy vs. shame / XTIl 9 <

2. Trust vs. mistrust / [GY S iy

3. Intimacy vs. isolation / 3fdITdT §-TH TR

4. Initiative vs. guilt / U8d SH SORTY Y

Correct Answer :-
« Intimacy vs. isolation / 3{GRITAT §9TH 37eTd

17) Which of the following embodies the idea that individuals learn through experience? / Frafafea o

| P T faR Yol U A1 8 99 U F WTeAH | SAfed Haar 82
1. Universality / §deaTqdhdl

2. Nature / Udpidl

3. Nurture / GTS0T

4. Determinism / HAfddTg

Correct Answer :-

« Nurture / GTSOT

18) Language of word is not necessary for: / TG} T HTHT '&"H% ﬁl’E ICRUE qﬁ%
1. Conceptual thinking / CEIIRCAERES

2. Perceptual thinking / 3{d YRUMAD Fid

3. Imaginative thinking | HegRId fefde

4. Associative thinking /Wﬂﬁfﬁ?ﬂ

Correct Answer :-

» Imaginative thinking | SN ffa



19) While Piaget gave importance to biological factors governing development, Vygotsky ascribed

importanceto_./mﬁﬁmﬁﬁﬁaﬁmmaﬁﬁwaﬁmm,Wﬁ?
ISP A P A BT HRUT d4T:

1. Thinking process / feid= ufehan
2. Social interaction / ATHII® TUdH
3. Physical factors / Hifdd HR&

4. Environmental factors / QOaRUMT HR&b

Correct Answer :-

« Social interaction / JTHIIG JTh

20) Students from underprivileged background are facing learning difficulty. Most likely factor that is

affecting them is -/aﬁang{m%mﬁmﬁwmmmﬁwal LGRS
TR HRE Y I FUIAd PR IQT R A2 -

1. Individual needs/ TfGATd SMIIHATY
2. Lack of sleep/ iq &t St

3. Stress/ d-Id

4. Cognitive capabilities/ TTTH® &I

Correct Answer :-

« Individual needs/ TfGdiTd 3MaRTHAT

21) MBTI’s approach for a personality assessment is .| afedd G & ﬁlt{' m’a\’vﬂ% Cal
BiEa gl

1. Perception/ YRUIT
2. Projective/ PR
3. Structured/ TR
4. Judging/ 31ThT

Correct Answer :-

« Structured/ Tfrd

22) The theory of Constructivism was propounded by ./ Fwtorare &1 Rrgia & GRI
wfcrarfer fosam i T



1. Erikson / Qﬁﬁﬂ:{

2. Bandura / éllr_‘g'gﬂ

3. Vygotsky / ATZTIchI
4. Kohlberg / Eﬁ?ﬂﬁﬁ

Correct Answer :-

» Vygotsky / Wﬂ?\@ﬁ

23) When new ideas are incorporated into existing ideas they are known as WALCGLY ICEIRED]

el AR A e frarsmar e, @S| S UANMEISErg!
1. Accommodation / 3B

2. Replication / W faa=

3. Assimilation / THIATARU]

4. Reproduction / YT=dla

Correct Answer :-

e Assimilation / HTHITdH [

24) Using our phones while driving is an example of what kind of attention? /E{IEﬁ"T PId G TR
B $T SUAN A1 {5H UPR F HTUH $T TP 3160 52

1. Signal attention / R 3@y
2. Diffuse attention / ﬁﬁﬂ S{IYT
3. Selective attention / IIATHD HIUTT

4. Divided attention / faHad 3rgum™

Correct Answer :-

« Divided attention / faHad 3faem

25) Which of the following approaches to motivation does not rely on an intrinsic source?/

FATRT & forg FPafafaa & & o9 a1 @i te siafte dia R R T svar g
1. Cognitive / IRIHTHD

2. Humanistic /HTdaTG!

3. Behavioural / SAgRATG!



4. Socio-cultural / GHTS-Hikh ddb

Correct Answer :-

e Behavioural /Wﬁﬂ

26) CANCELLED

Students with learning disabilities have significant in a school related area
such as reading, writing, reasoning, listening or math’s. /Fﬂ@ﬁ B SA&HAT CI|
B B! TPd | Jaftd &1 o yegHT, foraHr, a& &=, g3+ a1 1o o

Hew@yqui @3l

1. Grasping / JHIA
2. Knowledge /GIHWI'\P[

3. Problems / gAY
4, Difﬁculﬁes/m

Correct Answer :-

. Difﬁculties/av—%_'-l'lé'm
27) CANCELLED

Physical development in the child slows down by the age range of: /g § IRIfve faer Ay S
Hror & ot gt SiTan &

1. 6-9 years / 6-9 CL
2.34 years/3-45|13f
3. 5-6 years / 5-6 CL

4. 4-5 years / 4-5 CL

Correct Answer :-
e 5-6 years/5-6 CL

28) CANCELLED

Which of these could be a cause for GDD?
/379 A -1 SIS & e U SR 8 JPpar 82

1. Childhood infection / ST &1 HhHUT



2. Childhood obesity / ST BT HleTdT
3. Strict parenting / % TRART
4. Excessive intake of sugar and additives/ -l 3R ufsfesy &1 Srafiies Yo

Correct Answer :-
« Childhood infection / IU- T HhHUT

29) Failure in performance is an essential part of Child learning process because: /ﬂa'sl'h s TP I,

I & SAfRTH F} ufthar &1 ve Sif~ard fgwan 3 wife:
1. it helps in developing self awareness. / dg 3T SRe&dl f[ABRId B | A Bl %I
2. it prepares children for unpleasant experiences. /Wé’ﬁaﬁaﬁ@ %ﬁ%%qaﬂﬂmgl

3. it helps student in re examination. / 4g Y-: 1ZRQT&IT?}[ S BI Haa ddl %I

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ug

I ) U & o Txad S11 © fob SiRaW, S1ST a1 BYet a1, 39 IfRTH & gy & Hg@yuf ]

Correct Answer :-

it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Jg

I ) U & o e S411 © fob SRaH, S1ST a1 BYet a1, 3 IfH & 9y & Ag@yuf ]

30) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? /

ART, TH Wsie fE1g &% Fdt 3 1I' 98 U Afsia e i fra famivar &1 q@® 22
1. Clerical thinking/ PTIRIY (i) fRid

2. Logical thinking/ d o

3. Organisational thinking/ GG feid—

4. Numerical thinking/ 3 fefd

Correct Answer :-

» Logical thinking/?ﬁ%ﬁ

Topic:- General Sanskrit(L1GS)

Y g T @ 2



| TleTeT |
, T |

, T
, 3caT |

Correct Answer :-

~ 3cddl |

~ 37TCead |



gt |
4, 2
Correct Answer :-

ar;riﬁ |

4

)
Al 41dr: AT-3caAgIY-Iga=®y fha ?
Mo
1. e -~ |

Y AT 3AET WieutaTss Fed |

Y 379TH |
1.

ZIT:‘CH?[I

T 97 |



T 3T |

Correct Answer :-

1,
zlagéll

IdUIH |
3. 2 7

iﬁaraa |
4, ~
Correct Answer :-

~ Sgoll |

” giher: $AFT @ geufed ?
. RSO ST |
_ gYIehIoT e |
B.Eﬁﬁﬁmﬁ'éﬂll
, EYIhIOT 32T |

Correct Answer :-



A |

Correct Answer :-

TSI |
3. .
I ETIEET
4. J Py .

Correct Answer :-



Correct Answer :-

. Uoddl: |

" ¢qgo i TEaT Asd: or@d |
TSI -URTATARIARITH |
1.

TSI ccR-UhlA I |
2.

Yo IcoR-Uh aRIfaerds |
3.

YT -UhITaRIfRITH |
4,

Correct Answer :-

TSGR -Uhl=TTaRIfRITH |

G L B L B R TAR G e A T o g




13) : :
AG ATF ﬁlﬂﬁ |

el TRT 8TOTH _ |
1.

offel T AIwUTH |

2

ffell T &qoTH _ |

3

effel T $IUTH |

4

Correct Answer :-
MeT qT ST |

14)

Mdled €T TaUgarFy fovd ?

e 3ed |



IR 3ed |
_ Ifaram: 3eed |
, Iamar: 3ted |

Correct Answer :-

 arm: 3ea |

. SEAT |

1 C
dIuT: |

5 D
JUT |



. alralaQTil

Correct Answer :-

18)

1. Sy
UqracI H: |
2. Sy

SCIESICRES

3

Jardica: |

4

Correct Answer :-



) gameifa: sfa esg eerad |
| TeTRllTd |
_ gaaeifd: |
EEACKI G

cegeifa: |

4.

Correct Answer :-

oI |

1.
) Shicacdl |
) hicacdl |

. shecAdcal |

Correct Answer :-




» g FfF 3w =7 7
1. d |

T |
AT |

3.
cd |
4. By

Correct Answer :-



TAAIST:’ ScET qUile] Joreh Yreh folad |

3 Ld 3 d 3L 3o 3

1

, a3 a3 d3 T3 3

, 9 3d dAr ol |

qI I T LA 3

4

Correct Answer :-
937 93 d 3 30 o 3

) AREFT 5T IIA: & ?
R

, o9

, cdl |

| I |

Correct Answer :-

25)

&T: e HAwd fohd ?



RGN
T |
¥
T

T |
4.

Correct Answer :-

G

Correct Answer :-
q4: |
. 2

27)

Al scaET fole &0 fohe 2
, ofelleh |
N foTellsh |



gﬂ’la%l
4.am=r|

Correct Answer :-

_ HEGHAIAA |

, dcdH |
, ddH |

Correct Answer :-

O UAH |

29)

¢.os 3T guerH 38 foad |
_ TFafAAYIcaRaTGeT |

I ANIc-37CalgTH |
| TSafIAYCR-31sedgeH . |




, TrafdAYIcaT-3rsedieTa |
Correct Answer :-

- AN c-3T5¢arGeTd |

Topic:- General Hindi(L2GH)

1) A B 3R A qaATHd g3 a1 7}
HE P §
R 98 Sardt i o

£33 A IS Frad it et B
3R I U TATE| & TR
Rigft o7 iR g:@ sgiza FA F1

IR Wi Al @

AT A TP IR YA HET UI-
30T F1 W W H & 7 |-
9% Uog @ fe=m @

IR TIRTS Bl g HIAT
gfSurh @t o T8 8

ITa U=IIRT ) UgHh d IR T UY HT IR ad134:



Y- UEgd Ui § A fpad g adi @ 2
1. 3T

2. W94 ¥

3.9 9

4. T 9

Correct Answer :-

. TR

2) Ul $9R A gardra g3 a1 gt
ST YfTpd o
R 98 Sardt i o

$3R ¥ IUP! T gt e ®
IR ST YT HATE! &b AR
Rieft o7 9k g sgiza FA 31

I G adt R

A1 3 & IR G4 el UT-
30T 1 W W B S 7 G
g Ug B fe=m @

3R RIS B Feg BT
i ¥t e TS 2

ITYed U= ) Ugeh? 19 IR T UY HT IR Id133:
- Ugd Ui § S P i 5 9 B de? 2
1.9

2. SR

3. 3RIfaYr

4. HI

Correct Answer :-

3) 4 B €37 A gerrerd gS a1 A
FE giRPa s
TR 98 Sdrdt 4t o

S A IHS! ITddid it gt §
3R I T TRl & STEAR
Rieft o7 iR g:@ sgiza FA 31



TR Wit At @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta T
9% gog B = @

3R TIRTS BT Feg BT

i &Y ara T 2

ST U B UgHR -1 Y& T UY HT 30X qargd:

WH- Ugd Siaal § &g @1 A7 3 fry fazn &Y ok R = & 9 91 &) gae & &2
1. Sfaor & faam

2. Tl & fAHT &1 FaAATD [a=M

3. faorar &t fa=m

4. 3{TAROT Bt fa=m

Correct Answer :-

. gt fa=m

4) Ul ®! 4R A GaATPHTd g3 971 T8l
ST YfTpd o
R 98 Sardt i o

3R § IUP! T gt e |
IR ST YT HATE! &b STAR
Rieft o7 iR g sgiza FA F1

I G adt R

A1 3 & IR G4 el UT-
30T B W W B S 7 G
g Ug B fe=m @

3R RIS B Feg BT
i ¥t e T8 2

IuYed U= ) g 19 IR T UY HT IR Id133:
- it o oiR g iz o= &1 utard @2

1. foreit gia R e

2. ForTTt & ATy =i

3. ToTet 1 g ST

4, YR D forarft

Correct Answer :-

o o & 91 g



5) |l Pt 3R A YATHTd §3 a1 Tal
HE P §
TR 98 wart A a7

SR A ISP Fraid et gt §
3R I YT HATE! &b TR
et o iR g:@ 9giRa A 31

IRAT T Al @

A1 9 & IR G4 el -
aféror &Y aRw W H F Ta A0
9% qog @t femm @

IR TIRTS B Fog HIAT
A A aa

ST Ui B UgH 19 TR T UY BT IR gaTsd:
- g it ot TR 3 P A8 BRar w1 uard 82
1. $9d U HTY fa9d § Tl §

2. HAA GI&0T BT IR IR B> g1 Ardll

3. B gHie P Ufd FId I &

4. SWRIad it

Correct Answer :-

o SWRIad Tt

6) W Ft SR A YATHTd §3 AT Tl
HE1 qipa ©
TR 98 Sard! dt o

$37 @ IS AT it TEd @
3R I U TATEl & TR
Right oA iR g:@ wefza FA &1

IRAT G A<l @

A1 3 & IR GF4 el UT-
Zféror B aRE W H F Ta AT
9% gog B = @

3R TIRTS BT Fog BT
A A T e

ST U B UgHR -1 T T UY HT 30X qargd:
- ‘W’ BT yargardt 981 82

1.Uq

2. RO

3.7iq



4, UM

Correct Answer :-

7) §i B $3R A gereprd g8 U1 A&
HET ied 8
TR 98 Sardy 4t o

$37 @ IS AT it TEd @
3R ST YT HATE! &b AR
Right o iR g:@ wefza s &1

TR Wit At @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta AT
9% gog B = @

3R TIRTS BT Fg BT
ST &Y ara T 2

ST U B UgHR -1 Y& T UY HT 30X qargd:
U= ‘giga &1 fady ghme

1. d¢fdlq

2. dlcllh

3. AR

4. 778

Correct Answer :-

8) I & $3R | YaATHId g5 a1 8l
S P o
TR 98 Saral dt o

€37 A TS Sraa Bt e B
IR ST YT HATE! &b ATAR
gl o iR g:@ wefza A &1

I @ A R

A1 3 & IR G4 el UT-
SfEor B TRP W BT b Ad AT
g Ug B fe=m @

3R RIS B Fg BT
ST Y ara TR

ST T I UgHR - D T ¥Y T I0R 9133



wA- e Ig A A A @2
1. e

2. TAlTQHT

3. TR A B Gt

4. JHTLHT

Correct Answer :-

9) T ®! 4R A YaTPHId g3 a7 Tl
ST YfTpd o
R 98 Sardt i o

$3R ¥ IUP! T gt e ®
IR ST YT HATE! &b AR
fRieft ofiF 9k g ggiza FA 31

I G adt R

A1 3 & IR G4 el UT-
30T 1 W W B S 7 G
g Ug B fe=m @

3R RIS B Feg BT
i ¥t e TS 2

ITYed U= ) Ugeh? 19 IR T UY HT IR Id133:
- Al B $9X A goreTd g3 a1 T8 Ui # SreipR 22
1. 8

2. YiferA™

3. 3

4. >Udh

Correct Answer :-

10) T #1 $3R A GoTHTd g3 AT 1KY
S Yfpa ¢
TR 98 Sardt i o

S A IHS! ITddid it gt §
3R I T TRl & STEAR
Rieft o7 iR g:@ sgiza FA 31



IRAT G A<l @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta T
9% gog B = @

3R TIRTS BT Feg BT

i &Y ara T 2

IUYa U= B Ughx -1 I T UY HT IR qad134:
W= 301 & 3rarar B W T fou e /2
1. Gf3g

2. 5W

3. e
4. IW

Correct Answer :-

11) AT YR A ATHTd g3 a1 1)
ST gRed ¢
TR 9g Sardt it 9

3R § IUP! T gt e |
IR ST YT HATE! &b STAR
Rieft o7 iR g sgiza FA F1

I @ A R

A1 3 & IR G4 el UT-

& F e W BT S Ha QAT
g Ug B fe=m @

3R RIS B Feg BT

gigAr &t a1a T @

IuYed U= ) g 19 IR T UY HT IR Id133:
- a0 Bt WP W FA 31 34 82

1. Ty S oifeq

2. 3Tg DI UIeT

3. Y BT SGH

4. TR &1 Holgd gl

Correct Answer :-



12) AT $t $3R I ATHTd g8 a1 T}
HE P §
TR 98 wart A a7

SR A ISP Fraid et gt §
3R I YT HATE! &b TR
et o iR g:@ 9giRa A 31

IRAT T Al @

A1 9 & IR G4 el -
aféror &Y aRw W H F Ta A0
9% qog @t femm @

IR TIRTS B Fog HIAT
A A aa

ST Ui B UgH 19 TR T UY BT IR gaTsd:
WRH- IRAT Wi A 3 o 82

1. IUR QIS &1

2. XN He b STl

3. YR R Tl

4, IR TR 3T ST

Correct Answer :-

« IO G -1

13) AT I $YR A ATHd g8 a1 et
HET ied 8
TR 98 Sardt 4t o

$37 @ IS AT it TEd @
3R I U TATEl & TR
Right oA iR g:@ wefza FA &1

IRAT G A<l @

A1 3 & IR GF4 el UT-
Zféror B aRE W H F Ta AT
9% gog B = @

3R TIRTS BT Fog BT
A A T e

ST U B UgHR -1 T T UY HT 30X qargd:
- Frafafed & 9 awRer o1 vatgar 98 g 2

1. Siifad=r

2. Ppdld

3. XHA



4, aTag

Correct Answer :-

14) U7 &1 YR A ATHId g3 AT 71
HET ied 8
TR 98 Sardy 4t o

$37 @ IS AT it TEd @
3R ST YT HATE! &b AR
Right o iR g:@ wefza s &1

TR Wit At @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta AT
9% gog B = @

3R TIRTS BT Fg BT
ST &Y ara T 2

ST U B UgHR -1 Y& T UY HT 30X qargd:
- Fafafea 4 9 g &1 wafgard g2

1. IRerd gt

2. R

3. Qg

4. daid

Correct Answer :-

Cdll
TR 98 Sidrdl 9t 99

$37 9 I9S TIadd S e @
3R I YT TATE| &b TR
Righ o7 iR g@ sela s &1

I @S At @

A1 TP IR GFQ FeT UT-
ST 1 TR TR B & 9 |1
a8 yog i fewn @

3R YIRTS B! Fg BT
IS A A T R

ST TR B UgHR 1Y YD Y U PT R I3 :

15) Wi B $4 A GATPHId g3 a1 781
qRpae



UY SR Y ISP JIdLld gl W@ & TR H AYHE Tk B -
1. X&d

2. ST

3. GBI

4. 3R

Correct Answer :-

16) CANCELLED

gl a1 98 ¥ g & aum kel 3t @, 37 TR ara off, wrgel @ W eifiyg & o A A
o 9189 9 9Td &1 S W1 9 9 fFgRart 3, 9 d-aigy, WI-¢7, UeTs-faars 9ad 3w 3| 79 & a1
gg At fp gAY 3T A SIS} B 1 T8 AT g SRS P JIH T2 URigD I, Meh-Age g ar R arsht &
WATA | HA ASHI, TSI B TSTS TS, T WIeh 3N Wed AR BT 78, Saedl 3P Jrgal IR b1 & ATl
TS HTH-T9-1 918 WTEd 3 IT5 RRIBY a5F Y A= Aqe-o1 s A, T AHas 71 F1E
YT gt AT B TSt fR wanfesr ik AT $Y W}, %ﬁmw—mmz F, st peI &
faferer ®t ok er 3= gt off| gt aig At ot S wfSraa | 3 WERed, Aoea, IR gaet &
1Y SAMFERY SR FAwerar $© 39 @e geft-faeht mﬁ%mﬁmmﬁwuﬁﬁlmm
PTH HIGM &1 BIs g W T8 TbdT 4TI 3T, T 3 3R TATS B1H A & T ST Har I e /il
STelt At 3R TRR F FER F ave [T ff Sl ot

ST TR F UgHR A2 IR Y UY HT IR gaTsd:
- frsaer &1 faeiy 82

1. TR A BIs 78!

2. 3{T0&

3. QU

4. 9<g

Correct Answer :-

17) Ugdl 919 g % fEgwam & qum qiikicl 9t avg, S aRTa ardl ff, areel @ @ Sfiygd & s WY
AT U9 AT6d UM Td 4| 99 o1 9 4 fegmari A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 97d gt P AR 3 # eIt P ST Fe ard B 3RS & e 98 uRig® 2, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, Od Tl 3R Wgd IR Bl 7, GIGaT IqP Agd! YR BT 8
YT| T 3TH-9-TM I HIed 1 39 RRIBY 8P &1 U Ae-o14 dasa! T, IR JA0Ts FT H1g
R yT il A1 F Te U nfEdt Tfesr v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt F | gt aorg ot 3t et femaa A1 3 TarEd, Toed, R gae™ &
1Y SR 3R Frwad $ 59 v ge-fie <R 1 3 miea @ 39 sigé 781 A1 usdt Ol 39 o
FTH TR $I Hig Ara W T a1 11 5T, X 31 SR §aATS BT HI F Y ITHT A I Fvew qf
STet At 3R TRR F TPR P @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- TR & AR G & G 98 URiA® S A?
1. ATID AR

2. &M I & a1l

3. HYTE g ardl

4. {TSITST DI ST T a1l

Correct Answer :-

. SATSICI P ST A8 arad

18) Uget 91 U & fEgwa & aum T1ficl @Y avg, 3% THRTa ara oY, Treel ¥ T Sifiyd ¥ iR W
AT U5 AT8d UM oTd A1 99 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3w 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ mﬂwwaﬁi
TR&YT gl A Ft TAH U snfRdt TR iR AT Ft Wnidl, 3 e Iu-HUTe ff, ot FE &
faferer ot oix Ter a1 gt <ff| gt aig A @1 St wfSaaa 1| 37 WawRet, oned, IR gt &
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ST TR B UHR 14 T 7T UY HT 39 9d154:
- 47 o1 fawar 8 Az
1. Shad faerr

2. I GEGRN
3. H9d SHMCRI
4, IWRIad gt

Correct Answer :-

o SWRIad gt

19) Ugeht 91d g f Rgw & qum aiiXiel @) @vg, 3% IRra ard ), Jreal & T g 3 iR W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WA | HA TSP, AT B TSTS TS, ST WTell 3N Wed TR Bl T, gaeal 3P Jrgal IR &1 &
4TI TP ATH-TH-TH 91 JTed 7 37 RRIBY a5F B Ut Age-o- dso! Wi, 3T A9ias w1 oI
YT gl AT B TP Ut nfRd) warfewr ik AT $t TWdl, @ S IU-HUTE ff, ot Hart F
faferer 3t oiR er 3= gt off| gt g Ot @1 St wfSmaa <ft1 37 W, 9w, R-gaet &
1Y TAFSRY 3R Freaerar £ 39 e gei-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw st ff | 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
w=A- 3Ry &1 3 32

1. frger g

2. JHifed T

3. HOR B

4, gUTfad BT

Correct Answer :-

. gHIfad g

20) Ugeh 91d 98 % g & aum Tificl @1 ave, 3% TgRa ara off, Treel @ T Sifiyd 3 iR W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ I9Y JHTE FT DS
g1 it A1 F Fe U nfEdt Tfer 3R AT &Y Widl, @ Aniae Iu-HUTE ff, St et &
faferer ot oix Ter a1 gt <ff| gt atg o @1 St wfSaaa | 37 WaRet, oed, IR gt &
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
- wgrs-fres’ # g (-) e P | wEd B2
1. faRy

2. 9rgq fag
3. Ui foRm
4. o g

Correct Answer :-

. g o

21) Ugel a1a g8 % fEgwam & aum qiikicl 91 @iy, 37 wRma ara off, wreel ¥ wr eifiyg 4 ek W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WA | HA TSP, AT B TSTS TS, ST WTell 3N Wed TR Bl T, gaeal 3P Jrgal IR &1 &
4TI TP ATH-TH-TH 91 JTed 7 37 RRIBY a5F B Ut Age-o- dso! Wi, 3T A9ias w1 oI
YT gl AT B TP U nfR warfewr ik AT $t Twmidl, @ S Su-HUe off, oY HeT &
faferer 3t oiR er 3= gt <ff| gt avie At @t S wfSaaa | 3 WEgRd, Toea, IR gaet &
1Y TAFSRY 3R Freaerar £ 39 @R get-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw usdt i1 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- TR & AR $IF-Ut AWaH SUHATY A2

1. had A Bt FAHHRT SRR BRI

2. TH Y IS TaT

3. Had A BT IoTHS]

4. T B TR NI TR 3R AT B} TS St

Correct Answer :-

o T BT FADHRT SRR BRI SR AT BT ISl <

22) Ugel 91d 98 % g & aum Tificl @1 ave, 3% TgRa ara off, Treel @ T Sifiyd 4 iR W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ I9Y JHTE FT DS
TR&YT gl A Ft TAeHS nfadt TfRwr ik AT #t T, 3 Auiad Iu-HUE ff, S Ferh F
faferer ot oz reT 3= gt <ff| gt aig A @t S wfSaaa Ft 1 37 WawRd, Toeq, ﬂvgﬁum'&ao'
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
TR- “URR B ABIR’ YgTax B1 3 32

1. TTfqHH

2. IR

3. 3fffe

4, S

Correct Answer :-

23) Ugel a1a g8 % ffgwam & aum qikicl @ @iy, 37 9Rme ara off, wrgel ¥ wrt eifiyg & sk W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WA | HA TSP, AT B TSTS TS, ST WTell 3N Wed TR Bl T, gaeal 3P Jrgal IR &1 &
4TI TP ATH-TH-TH 91 JTed 7 37 RRIBY a5F B Ut Age-o- dso! Wi, 3T A9ias w1 oI
YT gl AT B TP U nfR warfewr ik AT $t Twmidl, @ S Su-HUe off, oY HeT &
faferer 3t oiR er 3= gt <ff| gt avie At @t S wfSaaa | 3 WEgRd, Toea, IR gaet &
1Y TAFSRY 3R Freaerar £ 39 @R get-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw usdt i1 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
WA "MERd’ ek T AHY g2

1. 4

2. dH

3. /el

4. 9%

Correct Answer :-

24) gl 91d 98 % g & aum Tificl @1 ave, 3% TgRa ara off, Treel @ T Sifiyd 4 iR W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ I9Y JHTE FT DS
TR&YT gl A Ft TAeHS nfadt TfRwr ik AT #t T, 3 Auiad Iu-HUE ff, S Ferh F
faferer ot oz reT 3= gt <ff| gt aig A @t S wfSaaa Ft 1 37 WawRd, Toeq, ﬂvgﬁum'&ao'
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
- "FI-ET H B 9§ 2

1. gg IA

2. TUIHIG A

3. I®Y THN
4, HHYRY JHY

Correct Answer :-

o HIIHE FHN™

25) Ugel a1a g8 % fEgwam & aum qikicl @1 @iy, 37 wRTe ara off, wreel @ wrt eifiyg & sk W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WA | HA TSP, AT B TSTS TS, ST WTell 3N Wed TR Bl T, gaeal 3P Jrgal IR &1 &
4TI TP ATH-TH-TH 91 JTed 7 37 RRIBY a5F B Ut Age-o- dso! Wi, 3T A9ias w1 oI
YT gl AT B TP U nfR warfewr ik AT $t Twmidl, @ S Su-HUe off, oY HeT &
faferer 3t oiR er 3= gt <ff| gt avie At @t S wfSaaa | 3 WEgRd, Toea, IR gaet &
1Y TAFSRY 3R Freaerar £ 39 @R get-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw usdt i1 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



ST TR B UgH 1 U Y UY FHT 3R JaIsd:
- IS’ 8 ?
1. S[HdR

2. geft
3. g8
4. d

Correct Answer :-

26) gl 91d 98 % g & aum Tificl @1 ave, 3% TgRa ara off, Treel @ T Sifiyd 4 iR W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ I9Y JHTE FT DS
TR&YT gl A Ft TAeHS nfadt TfRwr ik AT #t T, 3 Auiad Iu-HUE ff, S Ferh F
faferer ot oz reT 3= gt <ff| gt aig A @t S wfSaaa Ft 1 37 WawRd, Toeq, ﬂvgﬁum'&ao'
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
WA faferer & e 32

1. R

2. faeieret

3.91g
4, AEEH

Correct Answer :-

27) Ugel a1a g8 % fEgwam & aam aikicl 91 @iy, 37 wRme ara off, wreel @ ur erfiyg 3 ek W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WA | HA TSP, AT B TSTS TS, ST WTell 3N Wed TR Bl T, gaeal 3P Jrgal IR &1 &
4TI TP ATH-TH-TH 91 JTed 7 37 RRIBY a5F B Ut Age-o- dso! Wi, 3T A9ias w1 oI
YT gl AT B TP U nfR warfewr ik AT $t Twmidl, @ S Su-HUe off, oY HeT &
faferer 3t oiR er 3= gt <ff| gt avie At @t S wfSaaa | 3 WEgRd, Toea, IR gaet &
1Y TAFSRY 3R Freaerar £ 39 @R get-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw usdt i1 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- e’ 31 Y 32

1. fRIcd

2. TRt

3. FRrad

4. TRIRY

Correct Answer :-

28) Ugel 91d 98 % g & aum Tificl &Y ave, 3% TgRa ara off, Treel @ T Sifiyd & iR W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIehl 3N Wed TR Bl T, gaedl 3P JTgal IR BT &
wwm—mmmﬁm%mwmaﬁmWﬁrﬁmﬁ I9Y JHTE FT DS
TR&YT gl A Ft TAeHS nfadt TfRwr ik AT #t T, 3 Auiad Iu-HUE ff, S Ferh F
faferer ot oz reT 3= gt <ff| gt aig A @t S wfSaaa Ft 1 37 WawRd, Toeq, ﬂvgﬁum'&ao'
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
- AoTed’ T 82

1. H&pd

2. fet

3. BRAT

4. St

Correct Answer :-

29) Ul a1a gg % fEgwam & aum qiikicl @ @iy, 37 wRTe ara off, wreel ¥ Wt eifiyg 3 ek W
AT U5P ATed UM o1 A1 59 o1 9 3 fFvgearit 3, It dg-aiey, [-¢71, UgTs-faars aad 3w 3| 7t
F 91 g8 i fF gHR S SATeITT B ST dS aTal € il & Had 98 URied 4, Mih-Ag% gl a1 A fuar st
F WATA | HA TSP, AT B TSTS TS, NF WTell 3N Wed TR Bl T8, geal 3P Jrgal IR o1 &
YT| TP AT—aTH-]1H 9T TTed A 3% RRIBY a5 $ (U= Adh-o= de! T, 39X AWiTd 1 B
R YT gl AT B TP U nfRd warfesr ik AT 9t Twmidl, @ S Su-HUe off, oY HeT &
faferer 3t oiR er 3= gt <ff| gt avie At @t S wfSaaa | 3 WEgRd, Toea, IR gaet &
1Y TAFSRY 3R Freaerar £ 39 @R get-Rrel 0t Y 3 uifiea @ o9 wi1gs e arqw usdt i1 374 3
PTH HIGM &1 BIs g W T8 TpdT 4TI 3T, T 3 3R TATS HTH A & foT ST Har! I S /il
STelt At 3R TRR F FPR F @ [urs ff Sl ot



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
TH- fegwm O &

1. IH

2.

3. fopam

4. faxiwor

Correct Answer :-

30) Ugel 91d g% % fEgwar & qum Tifkicl 31 ave, 370 IR ara oft, real @ W 3ifiryg A sk W
AT U5 AT8d UM oTd A1 59 o1 9 9 fFgarit 3, 9ot de-aigy, [I-¢71, UgTs-faars aad 3« 3| 7ot
& 919 g8 A fh UR A I eI} B 51 deA ardl § iUl & Jaw 98 uRia® 3, Midht-Ae g a1 4y fuar ot
F WATA | HA TSP, AT B TSTS TS, NF WIeh 3N Wed TR Bl T, Gaedl 3P JTgal YR BT &
wwm—mmmﬁw%ﬁﬁvﬁﬁaﬁﬁﬂwmmﬁﬁ I D FT DI
TR&YT gl A Ft TAeHS nfedt TfRwr ik AT #t T, @ Auiad Iu-HUE ff, WY Ferh F
faferer ot oz reT 3= gt <ff| gt aig A @t S wfSaaa Ft 1 37 WawRd, Toeq, ﬂvgﬁum'&ao'
mu@m&ﬁﬁvﬁm&mwwmgﬁ-ﬁwﬁzﬂaﬁamﬁmﬂﬁﬂﬁwm?ﬂlmzﬁv
BTH HRAM $t Hig |rg W T8 GFa1 U1 8T, TR 319 3R TATE FH B & [T IAP AT I AT AT
STt ot 3R URR B aPR F ave g o STt <t

ITYe T B UGH A IS T ¥Y BT IR Td133:
U ‘ASPT &1 fadid 2reg 3R 2

1. 9=l

2. STeD

3. ASP]

4. ADHS]

Correct Answer :-

Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time
and product of zeroes respectively are 4,1,and -6: /

9% 9 9gU< 9aq1Y, forad ! &1 AN, 3T A B & UG &1 TN TH IR | & foram mar iR 3 &
BT IUFHE HHRT: 4, 1 30T -6 3:

1.x3+='}x2+x—5



5 X% —dx?+x+¢
3 x5 +4x?+x+6

4.x3—4x2+x—5

Correct Answer :-

2) Ifa > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 0, i f9g P(a,b) AT E:

1. 2" quadrant / f&dia ?@Qﬁfﬂ

2. 4th quadrant / Elﬁ?f Elﬂuf"\’[
3. 3" quadrant / gftg aqufe
4. 1% quadrant / U4 E@u‘m

Correct Answer :-

. 4th quadrant / Elﬂ?f ?«lﬂ?ﬁﬂ

3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half
filled squares and 6 less than half-filled squares. Find the total area. /

TS I Xfie TR TH SAidhsT 10 T &1 Yuf =0 |, 8 11 oI 3141, 3 91 ot 31 A 31w 3R 6 T Ht
Y A $Y WRAT 8| T &ABA Jd B |

152 sq units / 15 &t s@rs
1. & &

2.21 sq units /21 aﬁwrs‘
3. 23 sq units / 23 T IPTg
4. 17 sq units / 17 aﬁsmé

Correct Answer :-

e 17 squnits/ 173’#%@

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total
surface area, then the correct formula is: /



Tl <h’ ST a7 *r’ AT AT TP 319 A9 axfd 9o &1 d5h YEIT &0 d s9b oo NI A6 d BT
Us-faeTs 2, ot 39T WEl g &:

3.2h=r

4. h=2r

Correct Answer :-

e 2h=r

5) Four equal rectangles with length ‘a’ and breadth b’ are joined to form a bigger rectangle.
Denote the area of bigger rectangle as x. /

TS ‘a’ 3R FISTE 'b'ard IR FHHE 3] Y Th IST 3Mad 411 P fore e siran 81 x & &y A
2 3T & ATFA P ST

1.x=4ab
5 ab = 4x
3.x=4a+4b
4lx=4+ab

Correct Answer :-

. x = 4ab

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 & TMTHAS TTHD, TS Ufaaiy 3R OIS doTHS T 8?2

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1,1

Correct Answer :-

« 0,1,1



7) What is the predecessor of 218010? /
218010 Ft Ydad! "= frast 82

1. 228010

2. 218011

3. 218009

4. 218000

Correct Answer :-

» 218009

8) Which property can be used to solve this problem? Find the solution. /
39 UY P 86 B3 & e 59 o1 &1 Ium fhar i gehar 32 g9 W SR
98654.7x726+ 98654.7 %274 =?

1. Associative; 98654700 / ‘v'I'ITeEPCfﬂUT; 98654700

2. Both associative and commutative; 98654700 / ITad Td HH-faf-H4 T[0T G ; 98654700

3. Distributive; 98654700 / [daR U T[0T; 98654700
4. Commutative; 986547000 / sH-faf83 170T; 986547000

Correct Answer :-

« Distributive; 98654700 / fddRUll&® UT; 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of
the area of triangle and parallelogram is ./

T BYS 9y FUHIaR IgUe UM YR W U7 THTH AR v@rsi & a9 fRua &1 By« aur sasia
IgUS S TGABIATUE ____ ©I

1.1:3
2.1:2
3.2:3

4.3:4

Correct Answer :-

e 1:2



10) Foran equilateral APQEFE. the vertices () and F_ are (-3.0) and (3_0) respectively, then the 3rd
vertex P is: /

U FAGE APQRF fAIT, o Q ud RFHT (-3.0)T9 (3.0) &, ar o ofnd P &

(0.343)

1.

(093)

3.(0,3)
4. (0,4)

Correct Answer :-

(0.343)

11) 1£X is the mean of N observations A TN SO thhenz?:lﬂxi —X)= i |
afg N A& Xq,%0,X3, e X, BART X B, @l 2, (6, — %)= |

L1

7. X

3.1

4.0

Correct Answer :-

12) The polvgon having interior angles 117° 63° 52° 128%is:/

117°.63°52°,128° AR FHIOTdTel Igell &

1. Concave / 3ddd

2. Regular / 9H



3. Convex / 3dd

4. Convex and Regular / 31¢ 3R |

Correct Answer :-
e Convex / 3dd

13)

In AABC, D and E are points on AB and AC respectively such that DE|BC, AD = x, DB=x — 2,
AF=x+2,andEC=x—1_thenx=__ '

AABC #. AB3IRACT &#er D3R E§g 59 &R § & DEIBC.AD = x. DB=x — 2.
AE=x 42, dWEC=x—1%.dlx=___|

1.1
2.3
3.0

4.4

Correct Answer :-

14) One angle of a decagonis 90°and all the remaining nine angles are equal. Then the measure of

the other angles is: /

UF GRAT HT UH HIOT 90° 3R A Fafr &t Fror SR . A 377 Fwon i A9 g

150°
1.
5 120¢°

e
3.

115°
4,

Correct Answer :-

150¢°



15)  In APQR. PQ=3 cm, QR=4 cm then which of the following is not the side of a triangle  /

APQR #, PQ=3 ¥#HL.QR=4 ¥+ ¢, af eafeii@a & & wia=wr Berar &1 s=r =671 ¢

1.7 cm /7 S
2.3cm/3 Gl
3.2cm/2 9l
4.5cm /5 qHI

Correct Answer :-

e 7cm /7 It

16) If atb=2ab then the value of 1 + %is:
ia

IfE atb=2ab g, ar 3+§$r AT &
a

—
Bd | =

| =

2.
3.2

4.4

Correct Answer :-

17)  Given AABC2ADEF and AABCZ2AFDE then which of the following is not true? /
AABCZADEF 3R AABC2AFDE @ #rar ¢, ar Teafef@a & & sia-ar agr agr &2

1. CB=EF

2. BC=FE

3. AB=DF

4. AC=FD

Correct Answer :-



18)  Find who spends second least on fencing from the given table.
Name Shape of land Length of one side
Abhi Equilateral triangle 50m
Sanal square T0m
Mohan Fegular pentagon 60m
Suresh Regular hexagon 30m
& a5 aifeieT ¥ A X [ a5 oeel 9 GOl dad &
g FHid AT 87
o A H EHR UF ST H oEs
i SEELRES ] 50 HIeX
el aar 70 Hex
HAGa GH gerEgel 60 Hiex
qer A g 30 Hiex
1. Abhi / 31
2. Suresh / G
3. Mohan / Hig4
4. Sanal / 9-d

Correct Answer :-

« Suresh / X

19) Inatriangle PQR, £P=59Y, +Q=60" and £R=61" . The largest side of the triangle is: /
U e PQR #. £P=39°, £Q=60° 3R £R=61°&| Tegat &1 Wady @t oot &

1 ZP

s
2.

3.PQ

4. QR

Correct Answer :-

e PQ



20) Find the 3rd zero of the polynomial x*4+7x2-2x-14 | if two of its zeroes are —/2 andV2/

TgUE +7x7-2x-14 T AR Yodh AT F, ARG 5805 o YoIh —V2 TdV2 Bl
1. -7
2.3
3.5

4.7

Correct Answer :-

I

21) 1, . : i I
If x=-3 _v=/1is the solution of the equation -2x+3v=k then the value of 'k’ is:, .

. 1 i

Ifg x=-30d y=—THERT -2x+5v=k & B &.dl k &I AT &

1. -7

2.-5

3.7

4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following number so that the
number formed is not divisible by 3:

__9745/

ﬁaﬁr@a?%ﬁwwﬁuﬁ%mﬁﬁﬁﬁﬁmmmﬁmﬁmﬁaﬁﬁﬁ@mﬁ
faufsra T 81:

___9745
1.986
2.875
3.768

4.392



Correct Answer :-

e 768

23) choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b & T UGl & UH GY=YT BT ITq B1 |
1. 9a2b, 5ba?

2. 9a2b, 4ab, Sbaz, 7b2a, 3ab

3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7b2a,

Correct Answer :-

. 9a2b, 5ba?

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If
AC=12 cm, then EF=?/

%\BCDET:F JUHTR agye 8 3R E 3R F 0T Y ABD 3R BCD & d=w &1 afd AC = 12 I
, oY EF =2

1.2 cm /2 9#t
2.6 cm/ 6 9H!
3.4 cm/ 4 9

4.8 cm/S@ﬂ

Correct Answer :-

. 4cm/4@7ﬂ

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of

the sides of the hexagon. The new plot is in shape of a square with area ‘4a2’ m2. Find the total cost
of fencing land owned by Ajay at rate of Rs. 453/m? /

3T & UTH TH Y Y ATHR & YfH &1 TH ¢hsl 81 98 TP 30 Yf¥ &1 ghaT Wiled & of I9
Yeyd & frIRI # A frelt uep fBAR & Ty forarT s o741 81 ¢ YfY &1 ghsT TiaR § foraer

ATEd ‘4a2’ W2 1 31T & waTiired arelt YfA A 453 I/ Wer & X | 918 TH Ft oA aNIG qId
Cxd

1. Rs. 7248a / 72482 W



2. Rs. 9060a / 9060a 3Td
3. Rs. 8607a / 8607a ¥UU

4. Rs. 7482 / 7482 3

Correct Answer :-

e Rs. 7248a /72482 Uy

26) are logical consequences of the accepted axioms. /

_ Hipa Rygidl & aifee alomg g1
1. Conjectures / 3ITHIH
2. Theorems / opapa)

3. Postulates / SR
4. Corollaries / IUYRY

Correct Answer :-

e Theorems / opapa)

27) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the
price of 6 plates? /

%vﬁﬁaﬁ?sﬁtm?mqwszsw&%wﬁwﬁmmm 18 ¥UY g, dl 6 Wel &1 geu fora-r
?

1. Rs. 292 /292 30
2. Rs. 192/192 30
3. Rs. 200 /200 393

4. Rs. 384 /384 300

Correct Answer :-
e Rs. 1927192308

28) The area of a circle that can be inscribed in a square of side 8 cm is /

s yTaA TEF T F smfaA e BT awa gl

) 24msqem [24mddt JHAT



5 16m sqem /16w da THT

3 36 msqem /[36m I JHAT

4 6msqem [6m FIT JHT

Correct Answer :-

16msqem /16w T THT

29) The word ‘Jiva'- half-chord from Aryabhatiyam translated into Arabic also means ./
AU | Mg ‘ST — §TF 1S B 3R A srgafea A Wwggadr arf sy gnmi
1. Tan / ST (%:[)

2. Secant / J&T

3. Cos / DIl (H14)

4. Sinus / ST (VTSTY)

Correct Answer :-

e Sinus /ST (H1gTY)

30) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. This ratio is
called as i

it oft S e fhaAat Wemsi (3 & 918) & o T ST, TIHT 1: 1.6 81 39
3UTd B CadRE G

1. Golden ratio / ‘i|c"3'_'| %IQIZH
2. Fibonacci sequence /w 3{IhH

3. Golden triangle / Meed ﬁ’ﬂ\_ﬂ
4. Liber Abaci / foTeR e

Correct Answer :-

» Golden ratio / ‘ilc’S:l §|§|€I|

(8,—2) and (3,—6) i

31) The distance between the points i

fa=g (8, -2) 9T (3, -6) ¥ dw HI g gl



\."E units [ ﬁ,’ﬁﬁé

1.

5 V41 units / \."HE?I%
\.."'ﬁu.‘ﬂits ! \."ﬁﬁrg

3.

4 \."'Eu:rﬁts / \H’Rm
Correct Answer :-

V41 units / \."ﬁﬁé

32) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
THIHI 3x + 2y = 5 TG 9x + 6y = 6 & AW A=y g 34 &

1. Intersecting lines / Wl @MY

2. Perpendicular lines / daad Y@

3. Coincident lines / STt X@TE

4. Parallel lines / GHMIAR 341U

Correct Answer :-

« Parallel lines / AR ¥@TQ

33) The ordinate of all points on y-axis is:/
y-31&f IR 9t farg il & wife o @:

1. Any number / ﬁ's‘ T

2.0

3.2

4. 1

Correct Answer :-

+ Any number / CAERSEEA|



34) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Hiex @dl 3R 48 Hiex A T 3 FT uRku™ 3:

1. 240 Hiex
2. 124 HieR
3. 248 Hic}
4. 126 HIR

Correct Answer :-

. 248 TR

35) The number of times a particular item occurs in a given data is called its .
feu ¢ siwsT # te fadiv ug & yrd g7 areht wEn 3 gHH HET a1 81
1. cumulative frequency / TSt SRERCT

2. variation / fHerl

3. frequency / SRERAT

4. class size / I SfaRTA

Correct Answer :-

o frequency / SRERAT

36) The following sizes of shoes were sold in a day. Calculate the mode.
58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5

Frafafad sTeR & 9 te &7 § 92 TU| Igas &1 T B
58,9,56,4,9,3,9,3,6,1,9,7,1,2,9Td 5

1.3

2.6

3.5

4.9

Correct Answer :-



37) A circle has two parallel chords of lengths 6 cm and 8 ¢cm .If the chords are 1cm apart and the centre is on the
same side of the chords, and then find the length of diameter of the circle. /

TP g A 6 A 3R 8 Al Aars Y ) FHTHIGR oftar &1 afg Sshar 1 M g @ R g SNaTF wRw g, at
I & T P Ga1S 1 DL |

1. 12 cm/ 12 9
2.10 cm / 10 9#
3.5cm /59

4,6 cm/ 6 IH

Correct Answer :-

« 10cm/ 10 3

38) Choose the number not divisible by 3. /
3 | fauifora 78t 819 areht wen &1 999 |

1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

e 75286

39) Find the additive inverse of integer 97. /
qUIfes 97 BT ARTHSD Uidard J1d B |
1.79

2.97

3.-97

4.-79

Correct Answer :-

e -97



Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64 HWiex Yereil aral U JHaTg AYS # 9 30 $t o3 | 918 T & aFTd J1d B

1.Rs. 1728 /1728 30

2. Rs. 2880 /2880 TG

3. Rs. 1862 /1862 ¥4

4. Rs. 1674 /1674 30

Correct Answer :-

e Rs. 1728/1728 30

41) Behavioral objectives are also known as ./

AEIND Il DI & ¥u H ff ST ST 3
1. Developmental objectives / ICCaRSIEAC 3%5@
2. Specific objectives / fafary 3%?’1

3. Mastery objectives / E&HITI;Uf 3
4. Performance objectives / qai 3%52?1

Correct Answer :-

o Performance objectives / Era'-‘zh 3%@1

42) Reliability of a test means_____ ./

U e &) faygaarsrarfe

1. Accuracy of test scores / qﬁ&‘ﬂ 3‘|5|73f ﬁ Qﬁ’\ﬂ@_vﬂ
2. Development of test scores / erifall 3| T famrg
3. Consistency of test scores / erifall 3| Bt T
4. Rating of test scores / TRI&T 3] IS

Correct Answer :-
» Consistency of test scores / erifall 3| Bt T

43) Choose the expression which shows the distributive property of whole number. /

qul J@&IT & fAaRonTeaTs T[ur g1 aTelt Fioid &1 99+ B |



1. 441%(352x568)= (441x352)x568
2. 241(367+543)= 241x367+543x241
3.831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-
o 241(367+543)=241%x367+543%241

44) is the creator of logarithm. /

YU & fAmfar g1
1. Cantor / FR
2. John Napier / i AR

3. Newton / =gc
4, Sylvester / Raadwer

Correct Answer :-

« John Napier / EEEIFEH

45) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation,
understanding of shapes and aesthetics prevailed in the ./

Y U A frareia sie dfpar &1 wie veaniew, st f A=, srgam, srefaal 8ik SRqut
gagrsfaedie,  dAuvaRaz

1. Formal Education/Gﬁ'CI?ITR’E ﬁ[&‘l’[
2. Universities / fayfaemag

3. Villages /"Ti_d

4, Schools / IEBINE]

Correct Answer :-
» Villages /"Ti_d

46) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
e it SR R RRmfr & & Hgayul I |

1. Bhaskara-2 / HIRh-2



2. Narayana panditha / TIRTIU[ ufed
3. Varahamihira / W&I'%T
4, Mahavira / IIEW

Correct Answer :-

e Bhaskara-2 / HIRh-2

47) The classification of Audio-Visual aids was done by ./
YT (SATTSTI-FAF31eT) TSP BT TNBRUT____ GIRT fbar T/47 AT
1. Krathwohl / Hard

2. Edgar Dale / TSR =

3. Bloom / &JH

4. Anderson / TSI

Correct Answer :-

» Edgar Dale / USTR =

48) The main logical tool used in establishing the truth of an unambiguous statementis ./
WY Y D TaETs B! RITUT A A Waa g aifbs ares 3|

1. Deductive reasoning / Ir'\'l‘ll-l"lld-lcb dcf?

2. Axiomatic reasoning / E’qﬁ@'a@

3. Logical reasoning / difhes db

4. Inductive reasoning / SFTHATHD GE2

Correct Answer :-

» Deductive reasoning /Wﬂ%

49) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
gfe T fag &1 2N (2, -3) 8, 91 g foa aguinr a @eafta 82

1. I quadrant /I Elﬂ?ﬁ?[

2. IV quadrant / IV a@’,quT

3. II quadrant / IT aﬂ?ﬁ'ﬂ



4. III quadrant / III Iquf=r

Correct Answer :-

e IV quadrant/IV aﬂu’m

50) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which
number is closest to 20000? /

5 Ppeara el & g 3 Y fewel #t TBT- 20378, 19872, 20417, 32473 3N 23473 § | HIF-I [WAT 20000
¥ Apeaua?

1. 20417
2. 19872
3. 32473

4. 20378

Correct Answer :-

e 19872

51) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while
travelling at 90 km/hour. /

TH R DI 60 fHtii/der &1 1fa I a1 Hd §T e I a6 Uga- | 2 9 @1 § 1 90 fiider ot nfa @
T Hd U I Fa=1 o anm|

1. 1 hour 20 minutes / 1 T 20 e
2. 2 hours 40 minutes / 2 9T 40 fie
3.2 hours / 2 ©¢

4. 1hour 30 minutes / 1 92T 30 fiFe

Correct Answer :-

e 1 hour 20 minutes / 1 ¥eT 20 fiFe

52) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The

area of the circular track is:/W@ﬁ%ﬁEﬁ?ﬁmMﬁ%l mmeﬁ4ﬁaﬁiﬁ?ﬂg
11 U g Y ¢ | =il UY &7 &% d 3:



53) If the difference between the humbers obtained on dividing a positive number x by 5 and
by 3is 1. Then: /

Ife T YFTHD W x &1 5 3R 3 A AU F31 R urd w=msit & &9 &1 3w 1 §, o

X x
3= 173

1.
x
___:1
3 5

2.
Xx x
___:1
5 3

3.
x X
_:__1
3 5

4,

54) CANCELLED

0,1,1,2,5,8, 13, 21, 34, 55... and so on is a sequence named after the mathematician

/

0,1,1,2,5,8, 13, 21, 34, 55... 3R 3! X8 3T, TH 3JHH g St TG &
19 R 2

1. Euclid / gfdas
2. Thales / I

3. Fibonacci / BTSEMIT
4. Pythagoras / mgzmﬂw



Correct Answer :-

e Fibonacci / maﬁ[

55) CANCELLED

3x + 3x+....100

If times =150, then x= /

uﬁ 3x + 3x+....100 T =150 %’ at x=

1
L 2

1
, 3
3.1
4. 2

Correct Answer :-

56) Siya attended a mathematical ability test where (+3) marks are given for every correct answer,
(—2) marks are given for every incorrect answer and (-1) mark for every unattended question. Siya
scored 80 marks though she got 34 correct answers and left 10 questions. What was the total
number of questions for the test? /

Ry 3 v nforta errar wfieror & ymT R wiet vl® W SW & Y (+3) 8w fRE 914 §, U@ Ted SW
¥ T (-2) 3 AT wITa & iR wd® uy rg=ifya wy & forg (-1) 21 Rean 7 80 3% wrw fg, gTenife 39 34
gt IR 3 SR 10 uy o= 7@ fru B fAw| wdhen ¥ usi 9t pa v feast 9z

1. 48 questions / 48 U¥H

2. 50 questions / 50 UY

3. 75 questions / 75 U4

4. 60 questions / 60 UH

Correct Answer :-
e 50 questions / 50 U¥

57) Continuous evaluation is meant to emphasize on ./




AdHAPT____ WER A & g giarg)

1. retesting and feedback of evidence to teachers and students only / Had el 3R BE B ﬁ‘l'q 1&g
&1 TORIE0 3R ufaferar

2. diagnosis of learning gaps, use of corrective measures only / Had HUTH SR Bl faM, JURTHD
JUTT BT IUANT
3. all of the above / SURTGA Tt

4, regulation of assessment in total teaching-learning purpose only / Had EE[UT fRreror-aifenm | W
CARCIEREE

Correct Answer :-

« all of the above /m?ﬂ Tt

58) An Autocratic style of teaching is also known as ./

Rrer @t v PR (Siicihfes) Akt ot & u d W S ST g1
1. Informal style / 3T el

2. Integrative style / W et
3. Student-centered style / BHE-bi<d el

4, Teacher-centered style / fRrefep-hfod el

Correct Answer :-

« Teacher-centered style / R1&® “PHfsd et

59) Negative Reinforcement precedes the response and succeeds the response. /
TPRIAP [Ada ufafrar ¥ ugd ghar g 3R ufafsrar & gyTd gar 2|
1. punisher / S8 GIdT (§S ¢ dTa)

2. prover/mmw

3. prediction / WQFT

4. investigator / 3D (ST DA dIcdl)

Correct Answer :-

« punisher / 8 GIdT (ae’éfrarm

60) p:5+4 = 9(T)



q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)
q:5x(-12)<-100(f)

¢ ofta ® gUR gRT ST fPT oM a1et Y= &1 Ao a1 Sl Bl HET AT g
1. truth value / G HH

2. conjunction / FATS

3. connectiveness / GUTSTehdl (BT a-4)

4. falsity / AT

Correct Answer :-

e truth value / I HIH



